
 1'-8" 

 3'-4" 

T

T

A SIDE VIEW

C SIDE VIEW
6" FROM EDGE OF CURB
TO EDGE OF CANOPY CANOPY WIDTH 

CANOPY
HEIGHT

A

B

C

COLUMN

EXTRUDED
CAP & PAN

FALSE 
FASCIA

BEAM
 1" 

DETAIL A
SCALE 1 : 4

FALSE
FASCIA

EXTRUDED
CAP & PAN

WELDED
COLUMN
BRACKET

WELDED
END CAP

ALUMINUM RIVET
-1 PER TIEBACK STRAP

#12  x 1" SS SCREW
-USED FOR INSTALLATION
OF CANOPY DECKING

1/4-20 x 1-1/2" SS SCREW
-USED FOR CANOPY
FRAMING CONNECTIONS

#12  x 1" SS SCREW
-1 PER TIEBACK STRAP

ALUMINUM RIVET
-@ 4'-0" O.C. 
ALONG FALSE FASCIA

BEAM

TIEBACK STRAP
-@ 8'-0" O.C.

 1" 

OVERHANG 
WIDTH

DETAIL B
SCALE 1 : 8

FALSE
FASCIA

EXTRUDED
CAP & PAN

WELDED
COLUMN
BRACKET

WELDED
END CAP

ALUMINUM RIVET
-1 PER TIEBACK STRAP

TIE-BACK STRAP
-@ 8'-0" O.C.

#12  x 1" SS SCREW
-USED FOR INSTALLATION
OF CANOPY DECKING

1/4-20 x 1-1/2" SS SCREW
-USED FOR CANOPY
FRAMING CONNECTIONS

DETAIL A SIDE VIEW
SCALE 1 : 4

FALSE
FASCIA

EXTRUDED
CAP & PAN

WELDED
COLUMN
BRACKET

#12  x 1" SS SCREW
-USED FOR INSTALLATION
OF CANOPY DECKING

1/4-20 x 1-1/2" SS SCREW
-USED FOR CANOPY
FRAMING CONNECTIONS

T-FLASHING

BEAM

DETAIL C
SCALE 1 : 8

DEFLECTOR PLATE

ALUMINUM RIVET
-1 PER DEFLECTOR PLATE

9 INCH #5 REBAR

STYROFOAM BLOCKOUT
-REMOVED AND FILLED WITH 
CONCRETE DURING CANOPY
INSTALLATION

COLUMN

CONCRETE FOOTING
-FOOTING SIZE AS

REQUIRED FOR BEARING
UPLIFT AND MOMENT

(BY OTHERS)

CONCRETE SLAB
(BY OTHERS)

 4"  2 3
4 " 

 6" 

DETAIL C SIDE VIEW
SCALE 1 : 8

9 INCH #5 REBAR

STYROFOAM BLOCKOUT
-REMOVED AND FILLED WITH 
CONCRETE DURING CANOPY
INSTALLATION

COLUMN

CONCRETE SLAB
(BY OTHERS)

CONCRETE FOOTING
-FOOTING SIZE AS

REQUIRED FOR BEARING
UPLIFT AND MOMENT

(BY OTHERS)

ALUMINUM RIVET
-1 PER DEFLECTOR

PLATE

DEFLECTOR PLATE
-SEAL TO INTERIOR 

OF COLUMN

SECTION VIEW OF CANOPY

ISOMETRIC VIEW OF CANOPY

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 Canopy E Part File 1

2   4 x 6 x .150 Column (Draining) 260'

3   4 Extruded Bracket 12'-3 7/8

4   4x6 Beam 108'-4
5   4 End Cap 13'

6   6 False Fascia 355'

7   3 x 6 x 0.060 Extruded Pan 1521'
8   6 Inch Extruded Cap 1352'

9   3 Inch 0.040 T-Flashing 91'-8

10 4x6 assembly 13

11   Deflector Plate (4x6 
column) 4x6 Deflector Plate 1

12   round head 
bolt_1_ai 1

13 Medium Flat Block 
Out Assembly 26

14   Medium Blockout

Removed and filled with concrete 
during canopy installation 

(10in.x10in. @ top, 14in.x14in. @ 
bottom, 14in. tall)(installed by 

others)

1

15   9 Inch #5 Rebar 1

16   Concrete Footing 
(Medium)

Footing size as required for bearing, 
uplift and moment (By Others) 1

17 3 inch tie back strap 
for  3 x 6 inch pan 48

18   1"x8" TIE BACK STRAP 1

19   ALUMINUM RIVET 1
20   #12 x 1" SS SCREW For Installation of Canopy Decking 1

21 1/4-20 x 1-1/2" SS 
SCREW For Canopy Framing Connections 156

22 #12 x 1" SS SCREW For Installation of Canopy Decking 390

23 Concrete Slab E By Others 1

24 #12 x 1" SS SCREW For Installation of Canopy Decking 474

25 ALUMINUM RIVET 92

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

SHEET 1 OF 1

BUS/PARENT
DROP-OFF CANOPY

LONGWAYS

DATE: 

TITLE:

JOB NAME:

STAMP

Bus and 
Parent Drop-
Off Walkway 

Cover

REVISION # :

8/16/2017

DC  = DRAINING COLUMN (If Applicable)•
HEIGHT RECOMMENDED NOT TO EXCEED•
12'-0" OR WIDTH OF CANOPY, WHICH EVER

       IS LOWER
ALL FASTENERS TO BE 300 SERIES STAINLESS •
STEEL OR ALUMINUM

NOTES:

SPECIFICATIONS 
Section 107300 - Aluminum Walkway Covers

1.01 General Description of Work:
A. Work in this section shall include design and fabrication of pre-engineered aluminum canopies.
B. Canopies are to be fabricated and installed according to approved shop drawings.

1.02 Design Criteria:
A. International Building Code 2015 
B. ASCE 7-10 
C. Aluminum Design Manual 2015 
D. Local governing codes and standards for site location

1.03 Materials:
A. All materials shall be extruded from aluminum unless indicated otherwise on the drawing.
B. Material sizes shall meet or exceed the design criteria on 1.02

1.04 Finishes:
A. Factory applied baked enamel to comply with AAMA 2603
B. Color selected from manufacturers standard colors

1.05 Manufacturers:
A. Mitchell Metals, LLC -www.mitchellmetals.net - 770-431-7300
B. Dittmer - www.dittdeck.com - 407-699-1755
C. See Specifications 2.1-C for conditions of equivalent systems by other manufacturers. 


	Sheet 3(2)
	Drawing View10
	Section View T-T
	Detail View A (1 : 4)
	Detail View B (1 : 8)
	Detail View A SIDE VIEW (1 : 4)
	Detail View C (1 : 8)
	Detail View C SIDE VIEW (1 : 8)
	Drawing View17


